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QUESTION 1

What is true about queries submitted on the PureData System for Analytics Appliance?
A. Queries are uncompressed by the host and sent to the user.

B. Queries are consolidated by the host and executed together in one block.

C. Queries are compiled by the host and executed in parallel by the S-Blades.

D. Queries are compressed by the host and optimized for parallel processing.

Correct Answer: C

QUESTION 2

Which nzload operation statement is correct?

A. nzload must have a control file.

B. nzload performs singleton inserts.

C. nzload user must have CREATE EXTERNAL TABLE privilege.
D. nzload must be run from the PureData System for Analytics host.

Correct Answer: C

QUESTION 3

What operating system runs on a PureData System for Analytics host?
A. AIX

B. SUSE Linux

C. Nucleus OS

D. Redhat Linux

Correct Answer: D

QUESTION 4
What will occur when two tables are joined together and the data is NOT collocated?
A. No data movement is required.

B. A merge join operation will be performed.
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C. A cluster based join method is performed.
D. Data is dynamically redistributed or broadcasted.

Correct Answer: D

QUESTION 5

What is the state of the two hosts on a properly functional PureData System for Analytics Appliance?
A. Active - Active

B. Active - Stand by

C. Stand by - Backup

D. Stand by - Passive

Correct Answer: B
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